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4. sin 0° X tan 0° — cos 0° 2] ZF& A, sin90° x cos 90° + tan 0° 2] <

Bt & o B-A 9] gk2?

®-2 @-1 ®0 @n ® 2

A=0x0-1=-1,B=1X0+0=0°]E2 B-A=0-(-1) =1




5.

b A7 F b 2 R

@tan 45° @ sin40° ® sin45°
@ cos30° ® cos40°

cos 30° = 0.8660, sin40° = 0.6428
sin45° = 0.7071, cos40° = 0.7660
tan 45° = 1.000




6. HA x 9 gke -ohH?

2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@® 8.192 @5.736 ® 5.878 @ 8.09 ® 8.29

/C = 55° o|B 2
x =10 X cos 55° = 10 x 0.5736 = 5.736
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@ c¢sinB 4+ bsinC @ c¢sinB +bcosC

@ccosB—l—bcosC @ ccosB+bsinC

® ctanB+ btanC

B

AABH oA cosB= —,BH = ccosB

AAHC 9| A cosC =

w}2tA BC = BH + CH = ccos B + bcos C ©]t}.
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11. sin(3A-45°) = cos (% + 15°> A i, tan A x tan B ©] = 75HH?

(2, 15° < A < 45°,0° < B < 90°)

@ 0 @-1 @ @ -2 O

B )

sinx = cosx ¢l x = 45° o|t}.

B
3A —45° = 45°, A = 30° °]1L, 3 +15° = 45°, B = 60° °|t}.

1
w2} A] tan A X tan B = tan 30° X tan 60° = 75>< V3 =1o0|t}.




12. 0°<x<90° ¥ o, 2sin’x — 3sinx+ 1 = 0 = TEA]7]= x 9
420

O o @ 15° @30° @ 45° ® 60°

sinx = A 2tal 5}

2A2 -3A+1=0

2A-1)(A-1)=0
1

A=-1
2

1
sinx = 5 sinx =13, x =30° == x = 90° o|t}.

0° < x<90° OB 2 x = 30° °|t}.




13. the 47hHo) BE B3 Fold £AL TE

(x4 Ly O A71E Ford?

Sh= 2x 2F 2y o Hi5te]

<Z7A O>sinx = 0.2588
<Z7A @>tany = 0.3640

2 AOl(sin) | AFQ!(cos)| EHAI E (tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 0.3839

O 28° @ 30° ® 32°

@350 © 40°

B

<ZA @>sinx = 0.2588

Sx=15°
<& @>tany = 0.3640
L y=20°

Solx+Ly=15°420°=35°




14. tHS 182 AABC oA AHZHH] o] BE H 1 AABC o] Ed9] do|&

F5HH?
/10’
34°
A

2t sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

58° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@23.882 ® 29.107

~&B

olt}.

AB = 10 x sin 56° = 10 x 0.829 = 8.29
BC = 10 X cos 56° = 10 x 0.5592 = 5.592
wtetA AABC 9] 819 Zol& 10 + 8.29 + 5.592 = 23.882
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k° + k° + 2k° = 4k° = 180°
k° = 45°

, tan4h° =1 0|22
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2
wh2hA] sin 45° = %, cos 45° =

SinA + cosA + tanA = 1+ V2
w2t a + b 9 g2 2 o|th,




18. 45°<A<90° ¥4 ™, \/(sinA —cosA)?— \/(sinA — cosA)? & Ik
5] SFH?

23 @i 02 @vi o

45° <A <90° ¥ I sinA > cosA °|E2
(SinA — cosA) — (sinA — cos A)
=sinA —cosA —sinA + cosA =0
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ohS 138 AB = AC, /A = 36°, BC = 5cm A
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BC=BD=AD =5 (cm)

CD = x (cm) 238 AC=AB =5+ x (cm)
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BC:AC=CD:BD = 5:5+x=x:5

x*+5x=25

X +5x-25=0
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20. th2 19o]A BC = 8cm , /B = 60° ¥
o, ¥ O 9] HIz| 52| do]&=?

@ 2cm @ 4cm ® 6cm

®)8cm ® 10cm

gk of tigt AF7Fe] 7]+ 90° ©] B2 /ACB = 90°
— 8
B= =16
cos 60°

w2kA AB = 16( cm) O[22 §H2] 591 AO = 8cm




